Process Subprocess Partons T range
F{p,n} > £ X Vg —q 4.4, 9 x 2 0.01
(Fn/p— 1t X v d/u— d/u d/u x 2 0.01
pp— ptp~ X uil, dd — v* qJ 0.015 <2 <0.35
pn/pp — ptu= X (ud) /(ui@) — ~* d/u 0.015 <2 <0.35
v(iD)N — = (pT) X W*q — ¢ q,q 001 <z<05
vN -~ put X W*s — ¢ S 001 <z <02
VN -t~ X W*s — ¢ 5 0.01 <z<0.2
efp—efX v —q 9,4, q 1074 <z 501
€+p—>VX Wt {d, s} — {u,c} d,s x 2 0.01
etp — e ceX, et bbX v¥c¢ — ¢, v*g — cc ¢, b, g 1074 <2 <0.01
eTp — jet+X v*g — qq g 001 <z <0.1
pp;pp — jet+X 99,4999 = 2J : 0.00005 < =z 5 0.5

pp— (WE = (Fv) X
pp — (WE = (F1) X
pp(pp) — (Z — £707)X
pp — W=e, WTe

pp — (v* = LTT)X

pp — bBX, ttX

pp — exclusive J/¢, T
pp — X

ud — W+, ad — W~
ud - W+, du — W~

uu, dd, ..(ua, ..) — Z
gs — W™ec

wi, dd, .. — y*

gg — bB, tt

v (99) = J/¢, T
99 — 4, 99 — Vq

x 2 0.05

z > 0.001

x 2 0.001

x ~ 0.01
z>107°
x>107°, 1072
z>107°,1074
z > 0.005




